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6. TAY313Y 0"3i4A&oU 40,000.0 40,000.0 -
- UTCA=T TasAlasyy»i 3l =flasld al>r=av1a 4819 20,000.0 20,000.0 -
T3UUST»AA40AIA0YY»ACY
- 2k I=Eé»i 4861 20,000.0 20,000.0 -
7. D3E6»3T4AU3Y SRE3T3Y0Y»A 100,000.0 100,000.0 -
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 100,000.0 100,000.0 -
8. U»A1Aasu3IcY I3 - A»AC CABT3Y36460 118,200.0 118,200.0 -
- DO T3 TT3T3Y 1363(40AIa5YY»fi 4234 8,200.0 8,200.0 -
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 110,000.0 110,000.0 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
9. A3AT31CH Tx3AY»AC - 3YOU3Y 15,570.0 15,570.0 -
1363146Al46YY»iA
- DO T3 TT3IT3Y 1363(40Ala5YY»fi 4234 15,570.0 15,570.0 -
10. 263Y0Y3N3401 A3U3YV»AC I3hcCu 7,000.0 2,000.0 5,000.0
46Y»0640 3Y03Y6 N3U3i U3 T a»ECadAI3BY
343Na iU
- A3A31Ch Tx3AY»h 4823 2,000.0 2,000.0 -
- 2 U»U»Y3Y»A " 83A0= TaRaUY»A 5129 5,000.0 - 5,000.0

2500/05| 0 | O pdx2T2 GA==212084 a42pTa=20asAlacy 5,499,828.8 5,399,828.8 100,000.0
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4,954,645.8

4,934,645.8

20,000.0

=t ATai0

1. 20u3N3Ya6Ala6y = é3YCT3A313Y
U30A460

40,000.0

20,000.0

20,000.0

- Talasy=t 1=é=la0AlaoYY»h

4213

20,000.0

20,000.0

- P»YU»AC " RCYABAIAGYY»AC TSACT 3t T»A3YaR4 - 40U

5113

20,000.0

20,000.0

2. 20u30460»A¢ 68363ATU3Y ~
BCYZAZAZT3Y 30uC 103+4E03Y
1363464146 Y»hA

352,136.5

352,136.5

- Talasy=t 1=é=la0AlaoYY»h

4213

352,136.5

352,136.5

3. I»A3136406U3Y ~ %3 - 36U3Y

» TAd&313Y u3YI1C 3¢c31646A130u
CA3T3Y36i40 §9h 3YC 1480 A3=4YY»AiC
I'36373A03Y}! 1A303RY4AN3ICY A3 -CA
(B3TTCA3IT31 £C334AE0AI40Y Y»A)

371,587.2

371,587.2

- 2[f [=Eé»h

4861

371,587.2

371,587.2

4. CTAZE3T3Y Y»AZAaiU3IcY u=3YI¢
3316404130 CABT3Y36740 §9A3YC
14870 A3=4YY»AcC I36373/03Y! IA3-CA
(B3TTICA3IT31 £C334AE0AI40Y Y»A)

227,851.2

227,851.2

- 2[f [=Eé»h

4861

227,851.2

227,851.2

5. OTAAE3I13Y UC40AI3Y N3A""3Y46AI3Y
Y»A1Adéu3Icy -aAalcuC 3¢c31646A130u
CA3T3Y36740 §9h 3YC 1480 A3=4YY»iC
13637303y} 1A303RY4AN3ICY A3 -CA
(B3TTICA3IT31 EC334AE0AI40Y Y»A)

2,955,419.9

2,955,419.9

- 2[f [=Eé»h

4861

2,955,419.9

2,955,419.9

6. 2A»H3Y CTAEA3IC ; Y»hi- SEY34040A13Y
CuY383NE3Y3I3Y -4ATAY I»A46AI3Y
vavyig 3¢c31646A130u CAZT3Y36740
§OA3YC 1480 A3+4YY»AC 13637 3AU3Y!
1A3U3RYEAN3ICY TA3-CA (A3 T ICAZTT3I

£ BUAAE0AIAGYY»F)

779,820.6

779,820.6

- 2[f [=Eé»h

4861

779,820.6

779,820.6

7. I»A313640603Y ~ %3 - 3603y
»TAd&313Y u3YI1C 3¢c31646A130u
CA3T3Y36i40 §9h 3YC 1480 A3=4YY»AiC
I'36373AU3Y IA3-CAl (A3TTCA3IT31

£ BUAAE0AIAGYY»F)

227,830.4

227,830.4

- 2[f [=Eé»h

4861

227,830.4

227,830.4
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05| 3
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38,683.0

38,683.0
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1 |23 |4 5 6 7 8 9

2531 05 1 |G1¢ BOTawU3Y 1»U &30=3f 38,683.0 38,683.0 -
=1 A4
1. I»U»AC NAGY»AC U=0A4cU 38,683.0 38,683.0 -
- TaU&sY3t 1=263{40Al46Y Y »fi 4213 38,683.0 38,683.0 -

2560| 05| 6 | 0 | PAig=31= UCc3T3in¢ 43R0 &3YaiAlaoy (3 506,500.0 426,500.0 80,000.0
13»ACY 483 TT3Y40)
afigo

2561| 05| 6 | 1 |Pc=T= UCe=T3IAC A3RWASYaiAlasY (SE 13e»figY 506,500.0 426,500.0 80,000.0
4&37T3Y40)
=1 A4
1. T3Y34 w3A=[0Y»i¢ NeUYadU 80,000.0 80,000.0 -
33N83va0U
- TaU&sY3t 1=263{40Ala6Y Y »fi 4213 20,000.0 20,000.0 -
- D3l YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
- AYAS6CT 1A3USpYaAY»i & wsTsy - 4638 40,000.0 40,000.0 -
N=USIVUSICY 36 TA3ICY T3%UST»A&40AIa5YY»ACY
4. ECH3U3-»AC EW»0140U0 ~~ [S01383 740U 311,500.0 231,500.0 80,000.0
-P3TA YAST3T3(CY 3 ViasA»h 4269 28,000.0 28,000.0 -
- UTCA3T T40Ala0YY»fi 3k B=4dlA all» 134140 4819 203,500.0 203,500.0 -
I3%U=T»NAA0AIA0Y Y»ACY
- UlatA»fi —~ &3A= - 3V»f 5221 80,000.0 - 80,000.0
5. A3+3640 I»Y13YCY»AC 1Y363y»Aldil 115,000.0 115,000.0 -
- 2 I3Eé»h 4861 115,000.0 115,000.0 -

2600/06| 0 | O ~U=2T262020£0 pEU282620A0a0U ©1 8,243,462.9 8,063,462.9 180,000.0

TagacU2t 12e20a0A0as00°8

=1 A4

2610|106 | 1 | O | “YSI3A3Y3(cy BCY2AZA40AIAGY 50,000.0 20,000.0 30,000.0
afigo

2611|106 | 1 | 1 |7 YST3A3Y3ICY RCY2A=hanAlasy 50,000.0 20,000.0 30,000.0
=1 A4
1. EYOQY3T3U I'364006Y»AC G3Y2460 20,000.0 20,000.0 -
- 2 I3Eé»h 4861 20,000.0 20,000.0 -
2. aannant 3ewcx3Ye TASAZICY B»Yari¢ 30,000.0 - 30,000.0
03Y1460
- b»YU»fiG * RGYABAIAGYY»AC TSé45640U 5112 30,000.0 - 30,000.0

2630|106 | 3 | 0 |@A3U3T313A3A400 3,997,269.6 3,997,269.6 -
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I'363T73A40A13Y 3¢c31640AI130u
CA3TI3Y36i40 @A "3YC
CASUBT3I3A3AU3Y " ci3N»é36U3Y
IA3-ACY TA3U31AT40 I»EYCI313Y
3c31640AI3Y TA3-CA (A3 ICAZTT3I

£ BUAAE0AIAGYY»F)

487,459.1

487,459.1

- 2[f [=Eé»h

4861

487,459.1

487,459.1

2. I»A3136400U3Y ~ %3A-36U3Y

» A& 313Y u3YIC 3¢c31640A130u
CA3TI3Y36i40 ©A3Y¢
cABUBT3I3BABAU3Y u3irt3i03Y IA3-Ci
(B3TICAZTT31 EC334AA0AIA0Y V> )

969,127.1

969,127.1

- 2[f [=Eé»h

4861

969,127.1

969,127.1

3. CTAAE3I3Y UC40AI3Y N3A""3Y46AI3Y
Y»A1A4603ICY TA3-AC 3¢c31640A130u
CA3TI3Y36i40 @A "3YC
cA3UBT3I3A3AU3Y u3Art3iU3Y
1A3U3RYEAN3ICY TAZ3-CA (A3 T ICAZTT3I

£ BUAAE0AIAGYY»F)

1,436,554.4

1,436,554.4

- 2[f [=Eé»h

4861

1,436,554.4

1,436,554.4

4. CTAZE3T3Y Y»AZAaiU3Icy u=3YI¢
3c31640A130u CAST3Y36i40 ©A3YC
cABUBT3I3BABAU3Y u3irt3i03Y IA3-Ci
(B3TTCABIT31 EC334AE0AI40Y Y»A)

958,684.0

958,684.0

- 2[f [=Eé»h

4861

958,684.0

958,684.0

5. I»A313640003Y ~ %3A- 3603y

» A& 313Y u3YIC 3¢c31640A130u
CA3TI3Y36i40 @A "3YC
cABUBT3I3A3AU3Y u3Art3iU3Y
1A3U3RYEAN3ICY TA3-CA (A3 T ICAZTT3I
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B3N3-4AIU3Y ~ §3N&3YU3Y
BRE3T3YuY»i

2,272,039.1

2,272,039.1

- 840PECIC3Y»i 43 YCY3Ye3T3Y ar» 1313y
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

4511

2,272,039.1

2,272,039.1

3. I»A3136406U3Y ~ %3 - 36U3Y
»TAA&313Y u3YI1C 3¢c31646A130u
CAZT3Y36740 §973YC 0303030y

(4063 T4A40AIBY ]} 1A3BU3RYAANZ3ICY IAZ3-CA
(B3TICAZTT31 FC3%8040AI40Y Y1)
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206,205.4
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CASI=Y=36i40 §20"3Y¢ 030303y

(406 = T4Ad0AIBY ) IA=-Ch (B3 TICASTT3T

£ BUAAE0AIAGYY»F)

438,613.6

438,613.6

- 2[f [=Eé»h

4861

438,613.6

438,613.6

5. 2A " »HBY CTAEE3IC ; Y»hi- SEY34040AI3Y
CuY383NE3Y3I3Y -4ATAY I»A46AI3Y
vavyig 3¢31646A130u CAZT3Y36140
§CA3YC u30303ICY F4063 T4A40AI3Y !
1A3U3RYEAN3ICY TAZ3-CA (A3 T ICAZTT3I

£ BUAAE0AIAGYY»F)

683,553.6

683,553.6

- 2[f [=Eé»h

4861

683,553.6

683,553.6

2650

06

TYSISASYICY BCYSASAAAISY  TaU40YSE
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YSE3.[3gY 3BE3T3Y0Y»A

15,000.0

15,000.0
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06
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15,000.0
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5134

15,000.0

15,000.0

2660

06
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580,781.6

445,781.6
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06

“YST2ABY(CY RCYSASA&AIBY — Talasy3t
1=2¢3a0AlasYY»fA (Sl 13é»ACY a&3TT3Y40)

580,781.6

445,781.6

135,000.0

=t ATai0

3. 3I3cY TBA3I0Y»AC
E303NA383A31Y»A¢ NCUY3YAA4 - 46U 46
a3NE3vYa00

65,000.0

65,000.0

- P»YU»AG * RCYATAIASYY»AC TSé45640U

5112

65,000.0

65,000.0

4. A'3%U3u YSI3A3Y B»YO»AC u3h» 137 -U3Y
3 BBEST3YaY»A

40,000.0

20,000.0

20,000.0

- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0
azla=val

4251

20,000.0

20,000.0

- P»YO»AC ~ RCYADAIAGYY»AC TSACT 3t T»A3YaR4 - 46U

5113

20,000.0

20,000.0

5. @A=gY 1364006 Y»A¢ B=N= - 4 T460
S=3N§=Ya0U

364,000.0

364,000.0

- 2[f [=Eé»h

4861

364,000.0

364,000.0
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= [l L N v Sn O s \empee

Sz |3 = HSAGYY»AC, EUPAC ~~ 138xAC, CYadne Y= e AVISUsVA

o2 2 E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y EX- 3AA3T3Y Wade» | yavr3igY plase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

6. T3A63/31Y»AC E3NE&3Y450 26,781.6 26,781.6 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 26,781.6 26,781.6 -
N=202Vo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
7. T3U3A3Y6400Y»AC ~~ 3lE BCYAGAIZ0Y V»AC 35,000.0 35,000.0 -
I»A3Yan4-400 "~ - 40Y33p3A1460
- P»YU»AC " T3640l6Y»AC AYAS36CT Yana- a0 4251 35,000.0 35,000.0 -
a=N&=vail
8. TA3A3IcY 8318 - 30uY»Ac Yaha - a6l 50,000.0 - 50,000.0
- b»YU»AC * BCYASAIAGYY»AC TSACT3E I»Ai=Vafa-4U | 5113 50,000.0 - 50,000.0

2700|070 | O 2gadz=2a2pacAlasy 324,000.0 12,000.0 312,000.0
31 ATa0

2710|107 | 1 | 0 | “ABT=313Y 3&A3YaY»A, 63A0»A 78,000.0 - 78,000.0
E3A03T74A400Y»A
&RCo

2711|107 | 1 | 1 | _»0=-4AT3T3Y S&AA3YOY»A 78,000.0 - 78,000.0
31 ATa0
1. 2640c383N3T3Y 13303 I»A840AI46Y Y»AC 78,000.0 - 78,000.0
N303A uABIZT3Y 6303 4A40UY»AC
O»éuu»Adol
- 2[f U»U»Y3Y»fi ~ 63A03 TanaUY»h 5129 78,000.0 - 78,000.0

2760|107 | 6 | 0 | 2640¢c3&3NaoAlasy (3IF 136»AcY 246,000.0 12,000.0 234,000.0
483113Y40)
&RCo

2761/ 07| 6 | 1 [2640c=2A3N=T3Y NSASTC6 1=3¢3a0AlasYY»A 246,000.0 12,000.0 234,000.0
1A= - Ainfi
31 ATa0
1. 2640c383N3T13Y aui»T'TY»AC 194,000.0 - 194,000.0
NeuY=Yana - 46U
- b»YU»AC  BCYASAIAGYY»AC TSACT3E I»Ai=Vana-4U | 5113 194,000.0 - 194,000.0
2. AT3A3U3WEEC Ny 1344 T 40AIA6YY»AC 12,000.0 12,000.0 -
CAZT3Y3646U
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 12,000.0 12,000.0 -
3. 2640c3&43N313Y 13403 1»A840AI40YY»AC 40,000.0 - 40,000.0
N3U3f - 46luC O»é0 u»Aasl
- UldoA»f ~ A== -3Y»h 5221 40,000.0 - 40,000.0

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 2,585,488.0 1,875,488.0 710,000.0
31 ATa0

2810|108 | 1 | 0 |P3Y-67¢ ~E84ATC I=363/40Al406YY»A 360,000.0 150,000.0 210,000.0
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2811|108 | 1 | 1 |[P3Y-&WC ~ eA4aNWC I363(40Al40YY»h 360,000.0 150,000.0 210,000.0
31 ATa0
1. 63401 3IY UCca636460Y»AC 58,000.0 58,000.0 -
I33BU31>»A8400
- AY2R=Vas pYa&slAC 3 1=363(40A146YY»h 4239 58,000.0 58,000.0 -
2. D3Y-EUC -dWCY»AC ~ Buae3- CY»AC 240,000.0 40,000.0 200,000.0
136400400 40 3N43Ya0U
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 40,000.0 40,000.0 -
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 200,000.0 - 200,000.0
3. D» IBYT3NABE3AZIC 3N3 - 4A 146U 62,000.0 52,000.0 10,000.0
- AY2{=Vasn pYa&slAc 3 1=363(40Al46YY»h 4239 52,000.0 52,000.0 -
- TABYEAAAT3(CY e3fu=TanaiUuy»h 5121 10,000.0 - 10,000.0

2820|108 | 2 | 0 |@B3T40A3ICY [3E3A0AIAGY Y»ii 2,138,163.0 1,638,163.0 500,000.0
&RCo

2821|08 | 2 | 1 |TIASLI3AZYY»f 184,489.5 184,489.5 -
31 ATa0
1. YASI3[3Y3(cY [363a0AlaoYY»i 184,489.5 184,489.5 -
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 184,489.5 184,489.5 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

2822|08| 2 | 2 |A3Y-3A3YY»h ~ 640626i30Y»i 251,995.4 251,995.4 -
31 ATa0
1. A3Y-3[3Y3(cy [363a0Alaoyy»ai = 251,995.4 251,995.4 -
- BABPECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 251,995.4 251,995.4 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY

2823/ 08| 2 | 3 |@R2TAIAC WY»A, 3TAUUY»A, T»Y TRAYY»A 11,387.0 11,387.0 -
31 ATa0
1. D3U3Yo3igY UBZTE0IAC ~ 3331 A303Y6¢ 11,387.0 11,387.0 -
I33BU31»A8400
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 11,387.0 11,387.0 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

282408 | 2 | 4 |2k URSTAAZICY T3S T»AAA0AIATYY» 1,222,471.4 722,471.4 500,000.0
31 ATa0
1. OB3TA6A3ICY UCcAd3640UY»AC 470,400.0 470,400.0 -
CAZT3Y3646U
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Sc31640Alasy
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 1,800.0 1,800.0
- 2t Ya&=3ewY»h pliadc»Co 4729 3,910.0 3,910.0
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= = % = u?ACYY»ﬁQ,E'Up»ﬁC T 13ExfC, CYiare Y3 3 = AV130»YA
.;,.F;. Sl 3| E EB" plade» I SICY TSEE»AC TYI»E=-Cu3T3Y Z5 T3E3T3Y pladc» | yayr3(cY ulasc»
a| = 1363137 U3Y NATT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9
5. D3E3AZIZ13Y 1340318404140 Y»ACY 6,900.0 6,900.0
Sc31640Alacy
- UTCAS W Ta0AlaoYY»n 3l g=RNadld al»=&4Y140 4819 6,900.0 6,900.0
T3S T»A&A0AIA5YY»ACY
3090|110 | 9 | O | 40C3£E3I3Y 43R T A3VaiAlacY (S 38,310.8 38,310.8
13E»ACY 4831 T3Y40)
&RCo
3091(10| 9 | 1 |€A6C3EZT3Y AR W ASVAAlAY (3l 13e»AcY 30,250.8 30,250.8
4A3T1=2Y40)
31 ATa0
1. 840C3£313Y (- YaGAI3Y [363ldoAlasyy»i¢ 30,250.8 30,250.8
- i l40Y»d0AI3Y 1330=1»A840U
(BT ICAZTT3I EC34%4R40AI40YY»1i)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 28,921.7 28,921.7
N3 T»E3 Tx3AY»A
- WY»A-»wCT 1263[a0AIa6YY»f 4212 557.9 557.9
- T2AC 13é3{a0AlasYY»h 4214 390.6 390.6
- TASE»YIST3ICY VidsA»A -~ N=- 456w 4261 380.6 380.6
3092/ 10| 9 | 2 |€46C3E3T3Y A3 W ASYAAISYA TH3U31AT40 8,060.0 8,060.0
0A=Y13T [=3é63]a0AlaoYY»i (Sl 136»ACY
4A3T1=2Y40)
31 ATa0
2. 2640cacAI3Y 283N4T= - AdoAl46Y 8,060.0 8,060.0
- 233Mar=-A3T3Y I2E6»h 4215 8,060.0 8,060.0
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